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Question 2 (Unit 2)- 25 marks 
 
 
(a) This part of the question concerns inversion in the unit circle 
 
� ={ (x, y) : x2 + y2 =1 }  

 
Sketch  C1 ={(x, y): x=4} 
       C2 ={ (x, y): (x-2)2 +y2 =4}   
on same diagram. 
 
Sketch on a separate diagram, their images under inversion in � .   
         
You should indicate the coordinates of any points of intersections of images with �� 
                                                                                                                               [10] 
 

(b) Find the Möbius transformation M that maps z1 =1 to 0, z2 =i to 1 and z3 = (2+i) to � 

Describe the effect that M has on generalised circle �  which passes through  z1, z2, z3. 

Use the transformation M to decide whether �  passes through z4 = 1-i.        

                                                                                                                                   [15]  

 

 
Question 3 (Unit 2)- 25 marks 
 
Let K be the Euclidean circle with equation 
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(a) Express the equation of K in the form  

K={ z : |z-α| = r}. 
Where α is a complex number, r is a real number and z= x+iy. Hence show that K 
lies entirely in the unit disc D.                                                                           [10] 

 
(b) Find the non-Euclidean centre and radius of K   
                                                                                                                                [15] 
 
  
 
 




